
Recognise Equal Groups

1. Circle the group that is not equal. 4. Hattie and Luke both think they have 3 

equal groups of 2.

Who is incorrect? Explain why.

2. Complete the sentence below. 5. Joshua says that these groups of dogs 

are equal. 

Is he correct? Explain why.

3. Which representation shows 2 equal 

groups of 5?

A.

B.

6. Find different combinations of equal 

groups below.

Use the groups to complete the stem 

sentence in different ways.

There are______ equal groups with ______ in 

each group.
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flower in each group.



Recognise Equal Groups

1. C

2. There are 5 equal groups with 1 flower in each group.

3. A

4. Hattie is incorrect. She has 2 equal groups with 3 strawberries in each group.

5. Joshua is incorrect. The groups are not equal. There are two groups of two and one 

group of one.

6. Various answers, for example: There are 3 equal groups with 2 in each group; There 

are 2 equal groups with 5 in each group.
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